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la. 32 mod 17 =
b.-13mod 3 =

Cc. -21 mod 8 =

mod 7

2a. 24mod 7 =
b.19mod 7 + 5mod 7 =
c.12mod7-2mod 7 =
d.38 mod7-14mod 7 =

e.43mod7-19mod 7 =

f.36 mod 7 =
g.29mod 7 +7mod 7 =
h.9mod 7 -4 mod 7 =

I. 42mod7—-6mod 7 =
j. 62 mod 7 = (6 mod 7)?=
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3.a1mod7-__ _mod7=1
b.2mod7-__ mod7=1

c. 3mod7-__ mod7=1

d 6mod7-__ _mod7=1

mod 9

4.a. 10mod 9 =

b. 100 mod 9 =10 mod 9 - 10 mod 9 =

c. 1000 mod 10 =10 mod 9 - 10 mod 9 - 10 mod 9 =

d. 4428 mod 9 = 4000 mod 9 + 400 mod 9 + 20 mod 9 + 8 mod 9 =
4-1000mod9+4-100mod9+2-10mod9 +8mod 9 =
e. 56493 mod 9 =

f.
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mod 3

5a. 10 mod 3 =

b. 100 mod 3 =

c. 1000 mod 3 =

d. 56493 mod 3 =
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mod 11
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6a. 10 mod 11 =

b. 100 mod 11 =

C 9'voa 77w 190n 1And
c. 1000 mod 11 =

d. 10000 mod 11 =

e. 5368 mod 11 =
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mod 4

7a. 10 mod 4 =

b. 100 mod 4 =

c. 1000 mod 4 = 100 -10 mod 4 =

d. 10000 mod 4 = 100 mod 4 - 100 mod 4 =

e. 5352mod4=5-1000+3-100+5-10+2mod 4 =
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